
SAP ABAP table RECP_TERM_NOTICE_C {Notice Term}

RECP_TERM_NOTICE_C

TERMTYPE [CHAR (4)]

TERMNO [CHAR (4)]

NTPROC [CHAR (4)]

TIVTMNTPROC

MANDT [CLNT (3)]

NTPROC [CHAR (4)]
 RECP_TERM_NOTICE_C-NTPROC = TIVTMNTPROC-NTPROC 

0..N

{0,1} TIVTMTERMTYPE

OBJTYPE [CHAR (2)]

TERMTYPE [CHAR (4)]

 RECP_TERM_NOTICE_C-TERMTYPE = TIVTMTERMTYPE-TERMTYPE 
0..N1

VITMTERM

MANDT [CLNT (3)]

INTRENO [CHAR (13)]

TERMTYPE [CHAR (4)]

TERMNO [CHAR (4)]

 RECP_TERM_NOTICE_C-TERMNO = VITMTERM-INTRENO 

0..N

1


